AUGUST 1988

‘Answer ALL Questions

1. Weeds produce millicns of Naira in losses each year_
Nigeria. List 5 ways in which these losses are produc
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2 List 3 major systems of classifying weeds and give one
example of a weed species in each category

a) (1)
b) (i)
c) (1)

3. List 3 disadvantages of cultivation as a weed control method.
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4e In evaluating pesticides, what is LDSO and how is it used 7
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6. List 4 morphological factors that form the basis for .
selectivity of herbicides X

a)
REZERS o1 i e,
o M/E OLUWSAISY 1 mpapy
3 e 0. ¥ l;’:‘*
" ) ‘ Ukivrr 7
; d)

! Te Physiological and metabolic processes known to be affected
by systemic herbicides are:
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3 possible effects t
mlstake when calculating the a
put into a spray tank.
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List 3 major sources of herbicide injury and 3 methods
reduce the occurrence of each type of injury. y
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List 5 ways that a herbicide may be dissipated in the soil
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1%a) Complete this basic structure of urea,
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g) Draw the structure of Diuron
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d) What 1s the basic structural difference in b and c?
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12, There is a piece of land to be sprayed with a herbicide
KOGBE 50 WP-Assuming that the recommended rate is 3.0 k

What quantity of product will be needed for a 100 ha p
: of landa




